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Deelogxqj 714= Gduvwhooxqj yrq Qd5+K5R,5 qdfk Eduqhww xqg Odqgpdq lq ghu Nrq�jxud0

wlrq plqlpdohu Hqhujlh +d, xqg lp ßehujdqjv}xvwdqg ghu Uhdnwlrq Qd5+K5R,5 $ +QdRK,5

. K5 +e,1 Iÿu glh Uhdnwlrq zxugh hlqh Hqwkdoslh yrq 4/55 hY xqg hlqh Uhdnwlrqveduulhuh

yrq 4/89hY dqjhjhehq ^EO<9d`1
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Deelogxqj 715= Ehl hlqhu plwwohuhq Foxvwhujuù�h Q @ 933 xqg hlqhu Skrwrqhqhqhujlh yrq

6/7< hY dxijhqrpphqhv Pdvvhqvshnwuxp1 Pdq ehredfkwhw hlq nrpsoh{hv Vshnwuxp/ gdv dxv

Qdwulxp0Zdvvhu0Foxvwhuq xqg Uhdnwlrqvsurgxnwhq ehvwhkw1 Glh Shdnv jur�hu Lqwhqvlwçw zhu0

ghq ghq Uhdnwlrqvsurgxnwhq Qd+QdRK,p plw p @ 9> ;�49 }xjhrugqhw1 Ghu Elogdxvvfkqlww

rehq }hljw lqwdnwh Qd+K2R,q0Foxvwhu xqg glh Uhdnwlrqvsurgxnwh Qd+QdRK,+K2R,q +nxuvlyh

]dkohq,1 Glh plw Sihlohq jhnhqq}hlfkqhwhq Pdvvhqshdnv jhulqjhu Lqwhqvlwçw zhughq lp Wh{w

qçkhu huoçxwhuw1
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Deelogxqj 716= Ehl hlqhu Skrwrqhqhqhujlh yrq 7/99 hY +599 qp, xqg hlqhu Rihqwhpshudwxu

yrq WQd @ 553� F dxijhqrpphqhv Pdvvhqvshnwuxp1 Glh juù�wh Lqwhqvlwçw zhlvhq glh Pdv0

vhqshdnv ghu Qd+K2R,q0Foxvwhu dxi1 Glh Pdvvhqshdnv ehl 97/ ;5/ 433 xqg 44; x hqwvsuhfkhq

ghq Qd2+K2R,q0Foxvwhuq plw q @ 4� 71
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Deelogxqj 717= Plw hlqhu Zhoohqoçqjh yrq 599 qp +7/99 hY, dxijhqrpph Pdvvhqvshnwuhq1

Glh plwwohuh Zdvvhufoxvwhujuù�h eohlew zçkuhqg ghu Ph�uhlkh plw Q � 473 nrqvwdqw1 Glh

Whpshudwxu ghv Qdwulxprihqv zlug vfkulwwzhlvh hukùkw1 Qd+K2R,?0Foxvwhu zhughq huvwpdolj

ehl hlqhu Whpshudwxu yrq W�@ @ 4:3� F ehredfkwhw1 Lkuh Lqwhqvlwçw huuhlfkw ehl W�@ @ 4<3�

F hlq Pd{lpxp xqg qlppw iÿu juù�huh Whpshudwxuhq dxijuxqg ghv Hlqidqjv yrq phku dov

hlqhp Qdwulxpdwrp de1 Ehl kùkhuhq Whpshudwxuhq zhughq Uhdnwlrqvsurgxnwh lp Vshnwuxp

}zlvfkhq ghq Foxvwhushdnv ehredfkwhw1
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Deelogxqj 718= Ehl hlqhu Zhoohqoçqjh yrq 599 qp +7/99 hY, dxijhqrpph Pdvvhqvshnwuhq1

Glh plwwohuh Zdvvhufoxvwhujuù�h eohlew zçkuhqg ghu Ph�uhlkh plw Q � 473 nrqvwdqw1 Glh

Whpshudwxu ghv Qdwulxprihqv zlug vfkulwwzhlvh hukùkw1 Lq ghq Vshnwuhq hqwvsuhfkhq glh

Shdnv plw juù�whu Lqwhqvlwçw Qd+QdRK,p0Nrpsoh{hq plw jhudg}dkoljhp p1 Plw }xqhkphq0

ghu Rihqwhpshudwxu hukùkw vlfk glh Dq}dko ghu dxijhqrpphqhq Qdwulxpdwrph1 Nrpsoh{h/

glh hlqh xqjhudgh Dq}dko yrq QdRK0Hlqkhlwhq hqwkdowhq/ zhughq qlfkw ehredfkwhw1
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Deelogxqj 719= Plw Kloih ghv Kduwh0Nxjho0Prghoov zlug glh Dq}dko ghu Vwù�h hlqhv Zdvvhu0

foxvwhuv plw ghq Qdwulxpdwrphq lq ghu Slfn0xs0]hooh ehuhfkqhw xqg plw ghq h{shulphqwhoohq

Zhuwhq yhujolfkhq1 Glh ehuhfkqhwhq Zhuwh zxughq plw ghp Idnwru 4/8 pxowlsol}lhuw/ xp vlh

dq glh h{shulphqwhoohq Zhuwh dq}xsdvvhq1
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